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G = tf([K*wn"2],[1 _ 2*zeta*wn _, wn"2]);
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close all
fid = fopenfu
C = textscan(fid, %{%{%{%{%f', 'headerLines', 1);
felose(fid);
data =[C{2} C{3} C{4} C{5}]
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dataplot.m

close all

figure(1)

1_al = plot(datal(:,1),datal(:,2))

hold on

1_a2 = plot(datal(:,1),datal(:,3),'r")

hold on

grid on

axis([0 10 0 6000])

set(gca, fontsize',20,'fontname','times', linewidth', 1)
set(l_al,'linewidth',3,'color','b")
set(l_a2,'linewidth',3,'color','r', linestyle','--"
set(gca,'xtick',0:2:10)

% set(gca,'ytick',0:10:100)

ylabel('Angle [deg]")

xlabel('Time [s]')

legend('model','Exp.")

print -dpng datal
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